Algebra' unit 8 Review
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1. Graph the function: v = —3x2 4+ 6x + 5 2. Graph the function: f(x) = x2 + 4x + 3
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SQUARE ROOTS
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COMPLETING THE SQUARE

9. a® + 9a — 682 = 0 Clg) (Z) =2D25
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10. 4y2 +8y—-36=0
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QUADRATIC FORMULA

11. 2x%2 +4x~-7=0
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WHEN S [T BEST??

When should you use each of the different methods for solving?
Graphing oY graphea
No b ey
ooty Foctorable

- Square Roofs

Factoring

Completing the Square " —a =1
Quadratic Formua | 0L (N e

Which method would you choose fo solve each equafion?  Jusfify your reasoning  Then

solve using fhe method you chose Y Nz )
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RADICALS
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Simplify the radical
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Simplify the radical Write the answer in complex number form
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Solve using any meThod WrHe fhe answer in complex number form
23. x2-2x+10=0 DL 24.2x° +x+1=y
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